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TrigonometryExercised4 for No.10052
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r . 1 .3=2Sin(15%) Cos(15°) .4:1—28in(—j S
.1:sm[—] 2= Cos(105°) 12 &
12 - [ j M
an
,_| -3=Tan(15) .4=CSC[— 17“] 5 5 12 s Tan(12°) + Tan(18%) )
Nol = 12 )|, No2 = . 1 —Tan(12°) Tan(18°) ’ ’
S=Tan((-15)°)  .6=Sec(255%) 1- Tan(—J h
( 3n 131 o @
el e ok asiizelz) etz | |1
- - .7=Cos| — | —Sin| — .8 = Sin| Cos Cos| —— | Sin| — U
8 8 12 12 12 12 T
922 Cos(22.5°) — 1 g-—12n42) - Tan(12) Pl
L 1 + Tan(42°) Tan(12°) ] «(
)
L ]
| [ s
A=0,B= ,C—_D 2rn A=—",B=m, -
2’ 2
et (oS cm-fsu-2]]| | J (=3
Condl =| Cos(a) =7 |, Cond2 =| Sin(B)="" Condl =| Sin(a) = Cond2 =| Cos(B)=—"
No3 = ? 300 Noa= 4
.1 =Sin(a) .2=Cos(B) 1=Cos(a) .2=Sin(B)
3 =Tan(a) A4 =Sin(a+P) .3 =Tan(a) 4 =Sin(a—P)
S5=Cos(f—a) .6=Tan(a—B) S=Cos(a+p) .6=Tan(f—a)
L .7=Cos(2B) 8=Tan(2 o) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 =[Cond = (Cos(76°) = 0.242), Question = Sin(38°)], ,| U
T
M
No6 = [ Cond = (Cos(50°) = 0.643), Question = Cos(25°)], ,| U
T
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TrigonometryExercised4 for No.10064
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[ n] [11 n] .3=Sin(65°) Cos(20”) — Cos(65°) Sin(20°) .4 =Sin(18%) Cos(12°) + Cos(18°) Sin(12°) 4
3 =Tan| — .4 =Sin 2 2
Nol = 12 12 ) |, No2= n (m (m n . !
o o 5=Cos| —| =S| — .6=2Sin| — | Cos| — h
.5=Tan(195%) .6=Csc((-165)") 12 12 8 8
197 231 2 Tan(15° 2 @
.7:Sec( " j .8:COS(— B j :—()2 .8=1-28in(15°%) M
B - 1 — Tan(15°) U
9=C [RJC (7TEJ Si (RJS'(7RJ 10 = Cos(40°) Cos(10°) + Sin(40°) Sin(10° LT
9= — — |- — — | 10= +
I 05| 9 05| 13 in| 9 in| 13 0s(40°) Cos(10”) + Sin(40") Sin( )_ Bl
N
2
L
I 3n 3w I
A=0,B=—,C=—",D=2n A=n,B=—",C=—,D=n
2 2 2 2
. 5 2 . -5 -5
[Cond] = (Sm(a) = —J, Cond2 = (Cos(ﬁ) :—H [Cond] = [Sm(a) :—j, Cond2 = (Cos(ﬁ) :—H
No3 = 8 301 Noa= 6 7
.1 =Cos(a) .2=Sin(B) .1 =Cos(a) .2=Sin(B)
3 =Tan(B) 4=Sin(a+p) 3 =Tan(B) A4=Sin(f-a)
S=Cos(aa—B) .6=Tan(f—a) S=Cos(a+pB) .6=Tan(a—B)
L .7=Sin(2 ) 8=Tan(2 ) ] L .7=Sin(2 B) S=Tan(2 o) ]
M
No5 = [ Cond = (Cos(14°) = 0.970), Question = Cos(7°)], ,| U
T
M
No6 =[ Cond = (Cos(56°) = 0.559), Question = Sin(28°)], ,| U
T
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TrigonometryExercised4 for No.10076
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.zzsn{—J .2=Cos(75%) 9 18 9 18 G
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Nol = .3=Tan(105") .4=Tan[—3]  No2 = 8 _ ] 122 12 2 ’ ’ p
Bl _ o Q; o h
5= Cot((-285)°) .6:C0s£ 111sz 7= Sm[ IZJCOS( J-Q—Cos[ j81n[6J .8 =Co0s(22.5") —Sin(22.5%) @
L .7=Csc(345°)  .8=Sec((-105)°)] [ ( J 2Tan(§j A(/]I
Sn 0= T 2 LL 7 1]
1 + Tan| 36 Tan| — 36 1—Tan(—j l
L 8 J
o
)
L
[ b T } ] [ [ 3n 3n } ]
A=0,B=—,C=—",D=n A=n,B=—",C=—",D=2n
2 2 2 2
[Cond] = (Cos(a) —lJ Cond2 = (Sin(ﬁ) :lﬂ [Cond] = [Cos(oc) :ﬁj Cond2 = [Sin(ﬁ) :ﬁﬂ
No3 = 3 A1 Noa= 8 4
.1 =Sin(a) .2=Cos(PB) .1 =Sin(a) .2=Cos(B)
3 =Tan(B) 4=Sin(aa-P) 3 =Tan(a) A4 =Sin(a+P)
S=Cos(aa+f) .6=Tan(f—a) S=Cos(p—a) .6=Tan(a—-B)
L .7=Sin(2 B) S=Tan(2 o) ] L .7=Cos(2 a) 8=Tan(2 ) ]
M
No5 =[ Cond = (Cos(34°) = 0.829), Question = Cos(17°)], ,| U
T
M
No6 = [ Cond = (Cos(6°) = 0.995), Question = Sin(3°)], ,| U
T
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TrigonometryExercised4 for No.10077
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12 1 + Tan| Tan| — o
1 36 18 M
.3:Tan(EJ 4 =Tan((-15)°) (2= T 2n) (= Tan(25°) + Tan(20°) a
Nol = No2 =|-3=Sin| —— | Cos| —— |- Cos| —— | Sin| — 6= R o ¢
7 > 9 18 9 18 1 — Tan(25°) Tan(20°) ¥ ’
S5=Secl ——— | .6=Cot((-195)°) . h
12 2 Tan| — @
231 , o 0 o\ qir 100 12 M
.7=Cos| — 5 .8 =Sin(195°) .7=S8in(20") Cos(10”) + Cos(20™) Sin(10™) S=—"""7
L J U
b
1 —Tan| —/
an(lzJ LT ]
: )
T I T
9=2 Sin[—] COS(_J 10=2 COS[_] -1 «(
L 8 8 12 ] )
L
I 3w 3n b
A=0,B=—",C=n,D=""" A=—",B=2n,C=_",D=n
2 2 2 2
1 . 4 5 . 2
[Cond] = (Cos((x) :—j, Cond2 = [Sm( B)= —H [Cond] = [Cos(oc) = —j, Cond2 = [Sln(ﬁ) :—H
No3 = 5 93| No¢= 6 3
.1 =Sin(a) .2=Cos(B) .1=Sin(a) .2=Cos(B)
3 =Tan(a) 4 =Sin(a—P) .3 =Tan(a) A4 =Sin(a+p)
S=Cos(a+p) .6=Tan(f—a) S=Cos(aa—P) .6=Tan(f—a)
L .7=Cos(2B) 8=Tan(2 o) ] L .7=Sin(2 B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(70°) = 0.342), Question = Cos(35°)], ,| U
T
M
No6 = [ Cond = (Cos(16°)=0.961), Question = Sin(8°)], ,| U
T
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TrigonometryExercised4 for No.10083
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.1 =Sin(75° 2=Cos| ad el e oo
in(757) D 1—Tan(9]Tan( 36] M
3= Tan( 150) 4= CSC(2550) Tan( 800) _ Tan(zoo) a
Nol = 7n 117 )| No2= JS= R . .6=Cos(80%) Cos(10°) — Sin(80°) Sin(10°) | , t
S=Cotl ———— .6 =Tan| — 12 1 + Tan(80") Tan(20") i
7=Cos((-195)°) .8=Si [HRJ ZTanl_nz 2 w
7= - .8 = Sin|
R 12 j=——— 8=1-2Sin(22.5°) M
) '
1 —Tan| —
12 j
o0y2 . . . T s T S m =
.9=Cos(15”) —Sin(15%) .10 =Sin| — [ Cos| — [+ Cos| — | Sin| — N
L 18 9 18 9/
2
L
b 3n b 3n
A=0,B=—",C=n,D=—""— A=—",B=n,C=—"",D=2n
2 2 2 2
5 . 2 2 . 3
[Cond] = [Cos(a) = —J, Cond2 = (Sln(ﬁ) :—H [Cond] = (Cos(a) = —j, Cond2 = [Sln(ﬁ) :—H
No3 = 7 374 Nod = 3 7
.1 =Sin(a) .2=Cos(PB) .1=Sin(a) .2=Cos(B)
3 =Tan(a) 4=Sin(f-a) .3 =Tan(a) 4 =Sin(a—P)
S=Cos(aa+f) .6=Tan(a—B) S=Cos(p—a) .6=Tan(a+p)
L .7=Cos(2 ) 8=Tan(2 ) ] L .7=Cos(2 a) 8=Tan(2 B) ]
M
No5 =[ Cond = (Cos(32°) = 0.848), Question = Cos(16°)], ,| U
T
M
No6 =[ Cond = (Cos(76°) = 0.242), Question = Sin(38°)], ,| U
T
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TrigonometryExercised4 for No.10109
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d=1-2 sm(;) .2=2Sin(22.5°) Cos(22.5°) v
S
4
Tan[—nJ—Tan(EJ LLS 1]
| o | 3 =Sin(50°) Cos(10°) + Cos(50°) Sin( 10° = ? ? «
.I:Sin[—] 2=Cos(15°) .3=Sin(50") Cos(10”) + Cos(507) Sin(10™) 4= in . s
12 1 + Tan| Tan| ; a
.3=Tan(105°) .4 =Cos((-345)°)
Nol = s No2 = 17 n nz) (= 2 Tan(22.5°) - !
137 T L _ J
5=Tan - —— 6=Cotl ——— 5 =Sin| —/—— 36 Cos| —— 18 — Cos| 36 Sin 18 6= 5 h
12 12 1 - Tan(22.5°) @
L .7=Csc(195%) .8=Sec((-15)°) | Tan(30°) + Tan( 15°) X M
7= .8=2Cos(15%) -1 U
1 — Tan(30°) Tan( 15°)
2 2 LL 7 1]
T .
.9=Cos(110°) Cos(20°) + Sin( 110°) Sin(20°) .10= Cos[ 12) Sin[EJ 2
L (
)
— - — - ..( -
b I 3w 3w
[A 0,B=—,C=—,D :n} [Az—,B=2n,C=n,D=—}
2 2 2 2
-5 . -2 -1
Condl = Sln(a)— , Cond2 =| Cos(B)=—" Condl =| Sin(at) =—|, Cond2 =| Cos(B)=""
No3 = 6/ Nog= 5 2
A= Cos((x) .2=Sin(B) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(f-a) 3=Tan(PB) 4 =Sin(a—P)
S5=Cos(aa—B) .6=Tan(a+ ) S=Cos(p—a) .6=Tan(a+p)
L .7=Cos(2 B) S=Tan(2 o) ] L .7=Sin(2 B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(68°)=0.375), Question = Sin(34°)], ,| U
T
M
No6 = [ Cond = (Cos(22°) = 0.927), Question = Cos(11°)], ,| U
T
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TrigonometryExercised4 for No.10180
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i
_ , : P
) (“J [5)sL5) o3 V
.1 =Sin Cos + Cos| — | Sin| 2=1-28in| —
36 9 3 8 s
_ _ n 2 LLS ]
o (Tn .3=Cos| —| —Sin| — 4=2Cos(15°) -1 &
.1 =Cos(15%) .2=Sin| —— 12 e
12 M
o 19n 2Tan( j a
3=Tan(75") .4=Csc|— . o o
Nol = 12 /|, No2 = .6 =2Sin(22.5) Cos(22.5°) t
— o _ o h
.5=Sec(165°) .6=Tan((-75)") 1—Tan( J
7_C T §<C 137 12 @
Rt GETY s TN Tan(60°) — Tan( 15°) Tan(40°) + Tan(20°) f‘g
T
2
o
2
o
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7=
1 + Tan(60°) Tan( 15°)

3m
[A:O,B— ,C=m,D= 2}

[Cond] = [Sin(oc) = %), Cond2 = [COS(B) :éﬂ

Sw T Sn T
.9 =Cos —J Cos(—] + Sin[—] Sin[—] 0= Sin[
L 18 9 18 9

1 — Tan(40°) Tan(20°)

17 n] [n] (
Cos| — | — Cos
15

30

(S8
Ne——

[Cond] = (Cos(a) = 7 , Cond2 = [sm(ﬁ) :fﬂ

No3 = , ,No4=
.1 =Cos(a) .2=Sin(B) .1=Sin(a) .2=Cos(B)
3 =Tan(B) 4=Sin(f-a) 3=Tan(PB) 4 =Sin(a—P)
S=Cos(aa+f) .6=Tan(a—B) S=Cos(a+p) .6=Tan(f—a)
.7=Sin(2 B) S=Tan(2 o) ] L .7=Cos(2 a) 8=Tan(2 B) ]
M
No5 =[ Cond = (Cos(48°) = 0.669), Question = Sin(24°)], ,| U
T
M
No6 = [ Cond = (Cos(78°) = 0.208), Question = Cos(39°)], ,| U
T

T

1775] (
Sin| —
30

15

)

T

L
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TrigonometryExercised4 for No.10181

_ - -
A= Sin[—J .2=Cos(15%)

4= Csc(255°)

5n
6= Cos(— —j
12

.8 =Tan(195°) |

Nol = , No2 =

| .7=Sin(285°)

A=0,B=

[ T
2
[Cond] (Sm(a) = J

No3 =
.1 =Cos(a)
.3=Tan(p)
5=Cos(p—a)
.7=Sin(2 B)

X [Page = 0008] XXXXXXXXXXXXXXXKXXXXXXXXXXXKXXXXXXXXXXKXXKXXKXXKXXKXKXKXKXKXKXKXKKXKKXKKXKKXKKXKKXKKXKKKXKXKXKXKXKXKXKXKKXKKKLXKKXKKX KK KK KK KK KK XKXK XK XXX KX KX KX KKK KKXKKKKKK

No5 =[Cond = (Cos(24°) = 0.914), Question = Sin(12°)],

No6 = [ Cond = (Cos(58”) =0.530), Question = Cos(29°)],

4 =Sin(aa—P)
.6=Tan(a+P)

2
1 =1-28in(22.5%)

.3=Sin| — | Cos| — |- Cos| — | Sin| —
9 18 9 18

Tan(55°) — Tan(10°%)
1 + Tan(55°) Tan( 10°)

T b1
7=2 Sin[—j Cos(—J
8 8

.9=Cos| —/ | Cos| —— |+ Sin| —/ | Sin| 7
5 15 5 15

, ,No4=
.2=Sin(B)

S=Tan(2 o)

.2=Sin(25°) Cos(20%) + Cos(25°) Sin(20°)

2 2
b1
4= Cos( J Sin(—J
12 12
2
.6=2Cos(15°) -1
S5m b4 Sw
8= Cos[ J Cos( J Sin(—J Sin(—J
18 18 18 18
b1
2 Tan(—J
_ \&)
2
1- Tan[ J

0=

o |3

3n RE )
[A:TB 2n,C=n,D=—"" }

2

|:C0nd1 = (COS(O() = gj Cond?2 = [sm( B)= ESH

.1=Sin(a) .2=Cos(B)
3=Tan(PB) A4=Sin(f-a)
S=Cos(aa—P) .6=Tan(a+p)
.7=Sin(2 o) 8=Tan(2 B) ]
M
U
T
M
U
T

T
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TrigonometryExercised4 for No.10191

M 2 2 2 ] l
b T (m .
=2 Cos(—j -1 .2=COS£_J - SlnE—J i
12 8 8 P
T b
Tant—j - Tan(—J v
18 18 e o 0y Qi 200 S
= .4 =Sin(15") Cos(30”) + Cos(15”) Sin(30")
7r T LLS J]
r - 1+ Tan| — | Tan| — &
1=C o 2 =Sin(15° 18 8 T a7
1 =Cos| 1 .2=Sin(15%) . W2 T 2n (m) . (2w M
3 = Tan( 105° 165° 5 =1-28in(22.5") .6 =Cos g Cos T — Sin| g Sin T a
Nol=| ~ an( ) 4= Cos( ) , No2 = K s t
(23 = b T
.5 =Sin .6=Tan| —— 2 Tan| — h
12 12 , 0 0 0 Qi 190 8 @
o o .7=Sin(102%) Cos(12") — Cos(102%) Sin(12°) S=—""3,
L.7 =Sec((-255)°) .8 =Cot(255%) ] n M
1—Tan(—j U
8
I I LT
Tan(—J + Tan[—J 2)
9 18 . o o -
9= .10=2 Sin(15”) Cos(15%) A
T b
1- Tan(—j Tan(—J 2
L 9 18 ]
— — — — - ..( -
I 3n 3w I
A=0,B=—,C=—",D=2n A=n,B=—",C=—,D=n
2 2 2 2
. 1 1 . -3 -2
[Cond] = (Sm(a) = —J, Cond2 = (COS(B) :—H [Cond] = [Sm(a) :—j, Cond2 = (COS(B) :—H
No3 = 4 220 Noa= 5 3
.1 =Cos(a) .2=Sin(B) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4 =Sin(aa—-P) 3 =Tan(a) A4 =Sin(aa—P)
S5=Cos(B—a) .6=Tan(a+ ) S=Cos(a+pB) .6=Tan(f—a)
L .7=Cos(2 B) S=Tan(2 o) ] L .7=Cos(2B) S=Tan(2 o) ]
M
No5 =[ Cond = (Cos(62°) = 0.469), Question = Cos(31°)], ,| U
T
M
No6 =[ Cond = (Cos(32°) = 0.848), Question = Sin(16°)], ,| U
T
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TrigonometryExercised for No.10281

[ [Sm o ] 1—Tan(i

.1 = Sin| E .2=Cos(105%) 12

.3=Tan(15°)  .4=Cos((-195)°) .3=Cos(40°) Cos(20”) — Sin(40°) Sin(20°)

Nol = 191 T , No2 =
.5 =Csc 12 .6 = Sec _E
.5:C0s[
o 177

.7=Cot((-255)") 8= Tan[ ” J

No3 =
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b 3n
A=0,B=—,C=—",D=2n
2 2

[Cond] = (Sin((x) :%j, Cond2 = (Cos( B)= %)}

.1 =Cos(a) .2=Sin(B)

3 =Tan(P) 4 =Sin(aa—P)
S=Cos(f—a) .6=Tan(a+)

.7=Sin(2 B) S=Tan(2 o)

No5 =[ Cond = (Cos(30°) = 0.866), Question = Sin(15°)], ,

No6 = [ Cond = (Cos(8°) =0.990), Question = Cos(4°)], ,

i
2 Tanl—j
12

j

2 2
.9=Cos(15°) —Sin(15%)

, No4 =

lan [nj ,[llnj,[nj
Cos| — |+ Sin| /| Sin| —
36 18 36 18

2
.7=1-28in(22.5%)

i Tn b K
2= Sin[—] Cos(—] + Cos(—J Sin[—J
9 18 9 18

Tan(85°) — Tan(25°)
1+ Tan(85°) Tan(25°)

i 2
6=2 Cos[—j -1
8
177 b 17 .
Cos| — | — Cos Sin
30 15 30
i i
10=2 Sin(—j Cosl—j
12 12

8= Sin[

[ 3w L } i
A=m,B=—",C=—",D=n
2 2
-1 5
[Cond] = (Cos(a) :;j, Cond?2 = [Sin(ﬁ) :gﬂ
.1 =Sin(a) .2=Cos(B)
3 =Tan(B) A4 =Sin(aa—P)
S5=Cos(p—a) .6=Tan(a+f)
.7=Cos(2 a) 8=Tan(2 ) ]
M
U
T
M
U
T

T
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T
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TrigonometryExercised4 for No.10437

)
O
I Tan(65°) — Tan(20° ] r
2 2 _
.1=Cos(15°) — Sin(15°) 2 ——ran(65) ~ Tan(20°) V
1 + Tan(65°) Tan(20°) S
~ _ 27 b 2n) (m LLS 1]
51 3= Sln( jCos( J+COS[_J Sm(—j 4=2 Sln( JCOS[ j &
.I:Sin[—] .2=Cos(15%) 9 9 9 9 8 8 &
12 7 n 1) (= o2 M
.3:Tan(105°) 4= Sln(3450) .5 =Sin| — 18 Cos| — 18 — Cos K Sin| E 6=1-2 Sln(225 ) a
Nol = 17n 0. p No2 = - A , t
.5 = Sec| — 12 .6 =Csc(195%) 2Tan£—J I
[ 19 nJ .7=Cos(12°) Cos(33°) — Sin(12°) Sin(33°) .8:—82 @
.7 =Cot| — .8 =Cos(255°) [nj M
L J 1 —Tan| —
8 U
) el Sl |2
9=2Cos|——| -1 .10=Cos Cos + Sin| — | Sin| — 2)
L 12 30 15 30 15/ _(
)
L
R ol beeseFegos] ]
A:O,B:—,C——D 2n Azn,B—— =—D=n
2 2 2
[Cond! :[Cos(oo:lJ Cond2 = (Sin(m:ﬁﬂ [CondI:(Sin(a)- j Cond2 = [cOs(ﬁ):ﬁﬂ
No3 = 3 5 ., Nod= 9
.1 =Sin(a) .2=Cos(PB) .1 =Cos(a) .2=Sin(B)
3 =Tan(B) 4=Sin(f-a) 3=Tan(PB) A4=Sin(f-a)
S5=Cos(aa—B) .6=Tan(a+ ) S=Cos(a+p) .6=Tan(a—p)
.7=Sin(2 ) 8=Tan(2 ) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(56°) = 0.559), Question = Sin(28°)], ,| U
T
M
No6 = [ Cond = (Cos(12°) = 0.978), Question = Cos(6°)], ,| U
T
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TrigonometryExercised4 for No.10493

_ - q )
2 TanL—J o
12 2 2 NG N
I=—""3 .2=Cos(15°) —Sin(15%) P
- [ij 4
— Tan 7 s
2 T T LLS 1]
- - .3=2Cos(22.5°) -1 .4=2Sin| — | Cos| = &
J=si o B K 12 12 g,
.1 =Sin(75") .2=Cos 12 7 - M
3=Tan(105°) .4 =Cse(255° BT ART 5w T AL a
Nol=| =~ an( ) 4= ) , No2 = 5= .6:Sin[—J Cos[—j+Cos[—j Sln[—j , , t
137 Tmn Tr b 36 36 36 36 h
.5 =Tan| — .6=Sec| ——— 1 —Tan| —— | Tan| —
12 12 36 18 @
L .7=Sin(345°)  .8=Cos(195°) ] (2 nj [ T j M
Tan| — |- Tan| —
o o . or o o 5 15 U
.7 =Cos(35") Cos(25”) — Sin(35") Sin(25") 8= T
2n e L sl
1+ Tan[—J Tan[—J 2
5 15 A
2 e
b
9=1-2 Sin[EJ .10 =Sin(42°) Cos(12°) — Cos(42°) Sin(12°) )
L ] T
I 3n b 3w
A=0,B=—,C=—",D=2n A=—",B=n,C=n,D="""—
2 2 2 2
. 2 1 -1 . 3
[Cond] = (Sm(a) = —J, Cond2 = (Cos(ﬁ) :—H [Cond] = [Cos(a) :—j, Cond2 = [Sm(ﬁ) :—H
No3 = 3 2731 No4= 2 8
.1 =Cos(a) .2=Sin(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(B) 4=Sin(a+p) 3 =Tan(a) A4=Sin(f-a)
S=Cos(B—a) .6=Tan(a—B) S5=Cos(aa—B) .6=Tan(a+ )
L .7=Sin(2 ) 8=Tan(2 ) ] L .7=Cos(2 a) 8=Tan(2 ) ]
M
No5 =[ Cond = (Cos(46°) = 0.695), Question = Cos(23°)], ,| U
T
M
No6 = [ Cond = (Cos(18°)=0.951), Question = Sin(9°)], ,| U
T
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TrigonometryExercised4 for No.10596
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TrigonometryExercised4 for No.10599
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[Cond] (Sm(a)——J Cond2 = (Cos(ﬁ):—ﬂ [CondI:(Sm(a):—J, Conde[Cos(B):—ﬂ
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S=Cos(a+fB) .6=Tan(f—a) S=Cos(aa—P) .6=Tan(f—a)
L .7=Cos(2 a) 8=Tan(2 ) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(58°) = 0.530), Question = Cos(29°)], ,| U
T
M
No6 =[ Cond = (Cos(86°) = 0.070), Question = Sin(43°)], ,| U
T
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TrigonometryExercised4 for No.11068
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M
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No6 =[ Cond = (Cos(32°) = 0.848), Question = Cos(16°)], ,| U
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TrigonometryExercised for No.11423
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TrigonometryExercised for No.11440
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TrigonometryExercised for No.11466
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|:C0nd1 = (COS(OL) = fj Cond?2 = [sm(ﬁ) =

Bl
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TrigonometryExercised for No.11863

.1 =Sin(40°) Cos(10°) — Cos(40°) Sin(10°)

b i

Tan| — |+ Tan| —
15 10

b b
1 —Tan| — | Tan| —
15 10

2 2
4=Cos(15°) —Sin(15°)

5n . o Tn b
1 =Cos| —— .2=Sin(15%) Tan| — |- Tan| —
12 18 18
Tn =
3= Tan[;j .4 =Sin(285°%) 1+ Tan[ﬂj Tan(ij
Nol =  No2= 18 18
s_s (111:) St [177:) -
.5 =Sec 12 .0 =Tan 2 2TanE

7 = Cos((-345)° 8—c(7—nJ
| 7=Cos((-345)7) .8=Csc =77 ]|

2
i

1 —Tan| —
12

.6 =Sin(50°) Cos(10°) + Cos(50°) Sin( 10°)

.7=Cos(55°) Cos(10°) + Sin(55°) Sin(10°)

2
.8=1-28in(22.5%)

b 3n i
A=0,B=—",C=n,D=—""
2 2

[Cond] = [Cos(a) = ?J,

b1 T
9=2 Sin(—J Cos[—j
8 8

Cond2 = (Sin( B)= ?J}

i 2
10=2 Cos(—j -1
12

[Cond] = (Cos(a) :';

)

, Cond2 = [Sin(ﬁ) :%H

No3 = , ,No4=
.1 =Sin(a) .2=Cos(PB) .1=Sin(a) .2=Cos(B)
3 =Tan(B) 4=Sin(aa-P) 3=Tan(PB) A4 =Sin(a+p)
S5=Cos(B—a) .6=Tan(a+ ) S=Cos(aa—P) .6=Tan(f—a)
.7=Sin(2 ) 8=Tan(2 ) ] L .7=Sin(2 B) .8=Tan(2 o)
M
No5 =[ Cond = (Cos(72°) = 0.309), Question = Cos(36°)], ,| U
T
M
No6 =[ Cond = (Cos(44°) = 0.719), Question = Sin(22°)], ,| U
T
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TrigonometryExercised for No.11967

)
O
- o o 1 P
. 02 Tan(40") — Tan(10")
I =1-28Sin(15%) 2= V
1 + Tan(40°) Tan(10°) S
2
T LLS 1]
- - 3=2 Cos(—J -1 .4 =Cos(80°) Cos(10°) — Sin(80°) Sin(10°) &
(7n o 12 R
A= Sm[—] .2="Cos(15%) M
12 . T T T . T . o o o . o
S= Sln[—j Cos(—J + Cos[—j Sln[—j .6 =Sin(80") Cos(20™) — Cos(80™) Sin(20") a
.3 =Tan(75°) .4 =Cot(165°) 15 10 15 10
Nol = , No2 = 8 s t
7 231 I . T
S=Sec| ——— .6 =Tan| — Tan + Tan 2 Tan| h
12 12 36 18 12 @
7=Csc((-165)°)  .8=Cos(345° o 7 n o 2
- se(( ) os( ) 1- Tan(—j Tanl—j 1T s M
36 18 an 12 U
2 2 LL 7 1]
T . T . o o y
9= Cos(g] - Sln(g] .10=2Sin(22.5") Cos(22.5%) Pi
L ] Y
2
— - — — - ..( B
I 3n 3n I
A=0,B=—,C=—",D=2n A=n,B=—",C=—,D=n
2 2 2 2
5 . -3 2 . 3
Condl =| Cos(a) =" |, Cond2 =| Sin(B) =" Condl =| Cos(a)=—""|, Cond2 =| Sin(B) ="
No3 = 8 811 No4= 3 8
.1 =Sin(a) .2=Cos(B) .1=Sin(a) .2=Cos(B)
3 =Tan(a) A4 =Sin(a+P) .3 =Tan(a) A4=Sin(f-a)
S5=Cos(f—a) .6=Tan(a—B) S=Cos(aa—P) .6=Tan(a+p)
.7=Sin(2 a) 8=Tan(2 ) ] L .7=Sin(2 B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(40°) = 0.766), Question = Cos(20°)], ,| U
T
M
No6 =[ Cond = (Cos(86°) = 0.070), Question = Sin(43°)], ,| U
T
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TrigonometryExercised4 for No.13031

i T
A= Sin[—]
12

.3=Tan(75°)

.2=Cos(105°)

.4 =Sec(195%)

2
3=1-2Sin(15°)

I

S5n b4 5
A= Sln[ j Cos[ j + Cos[—J Sin(—
18 18 18

18

)

kg
=

2
4=2Cos(22.5°) -1

2 Tan(

o |3

2=

S NI R R ORI - R S N

Nol = , No2 = Tan(40°) — Tan(10° g
5:CSC[IIRJ 6:C0s[— 17“) = : )0 ( 3 6= 28111( jCos[ J
) 12 ’ 12 1+ Tan(40°) Tan( 10°) 8 8
_Q 0 _ o E Tmn T
L.7=S8in(2857) .8=Cot((-285)")] 7= Sin[l—J COSE j COSEE] SinEEj .8=Cos(10°) Cos(20°) — Sin( 10°) Sin(20°)
2 2
13 b (13n) (& b (= L 1]
.9 =Cos Cos| — |+ Sin| Sin| — 10=Cos| 7| —Sin| —
L 36 9 36 9 12 12
i 3n ] [ b 3n )
A= OB——C nD=—"" A=—"B=n,C=—",D=2n
2 2 2 2
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No3 =

|

Cond] = (COS(O() :gj, Cond?2 = [sm( B)= gsﬂ

, No4 =

[Cond] = [Sin((x) = %j, Cond2 = [Cog(ﬁ) :gj}

.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(B)
.3=Tan(PB) A4=Sin(f-a) 3=Tan(PB) A4 =Sin(a+p)
S=Cos(a+p) .6=Tan(a— ) S=Cos(p—a) .6=Tan(a—p)
L .7=Cos(2 ) 8=Tan(2 B) ] L .7=Sin(2 o) 8=Tan(2 B) ]
M
No5 =[ Cond = (Cos(74°) = 0.276), Question = Cos(37°)], ,| U
T
M
No6 = [ Cond = (Cos(32°) = 0.848), Question = Sin(16°)], ,| U
T



):9.0:9:0:9.9.9.:9.9.9:9:9:9:9.9.:9.9.9.9:0:9.9.9:9.9.9.9:0:9.9.9.9.9.9:9:0:9.9.9.9.0.9.9:0:0.9.9.9.9.9.9:0:9.9.9.9.9.9.9:0:0:9.9.9.9.9.9:0:0.9.9.9.9.9.0:0:0.0.9.9.9.9:9:0:0.9.9.0.9.9.0:0:9.9.9.9.9.9:9:0:0:9.9.9.9.9.0:0.0.0.0.9.9.9.9:0:0.9.9.0.9.9.0:0.:0.0.9.9.9.9.0:0:0.9.9.0.9.9.0:0:0.9.0.9.9.9:0:0:0.9.9.9.9.0¢
DGRV ERH ICIVIHNED 9:0:0:0:0.0:0:0:0.0:0:0.0:0:0.0.0:0:0.0:0:0.0.0:0.0.0:0.0.0.0:0.0.0:0.0.0:0:0.0.0:0.0.0:0:0.0.0:0.0.0:0.0.0:0:0.0.0:0:0.0:0:0.0.0:0.0.0:0:0.0.0:0.0.0:0.0.0:0:0.0.0:0.0.6:0:0.0.0:0.0.0:0.0.0:0:0.0.0:0.0.0:0:0.0.0:0.0.0:0:0.0:0:0.0.6:0.0.6:0:0.0:0:¢ | CYM L X T ST R/ S 0 0 10 12425474
TrigonometryExercised4 for No.13093

_ , , -
A=2 Sin[g) Cos(g] .2=Sin(18%) Cos(12°) + Cos( 18°) Sin(12°)
2
- - Tan(25°) + Tan(20° LLs
Bk 1050 3= 2COS£ j 1 g —1an(25) + Tan(207)
.1 =Cos 12 2=Sln(105 ) 12 1 _Tan(zso) Tan(zoﬂ) - -

S N N R R O I - R T " R

3=Tan(15°) .4 =Sin((-345)°) Tan(ﬁJ_Tan[ij
_ _ 36 36 Sn [ om (5m
Nol = .5:COS(23 nj .6 =Sec(195°) s No2 = 5= T N 6= COS[ISJCOS( 18] Sm[ﬁj Sm(gj g >
12 1+ Tan[—] Tan(—J
19n 191 36 36
_.7:Csc[— B j .8:Tan[ B J_ . . . o . 2 Tan(22.5%)
.7 =Cos(72") Cos(12”) + Sin(72") Sin( 127) =—"""""""7
1 — Tan(22.5%) L7 1]
L 9=1-2 Sin(22.5°)2 .1():Cos(15°)2— Sin(15°)2 ]
| I N Tt R A
A=0,B= ,C——D 27 A=n,B=—",C=—",D=n
2 2
v o2} cm-{snr- 2| |[em-{eor- 2o s3]
Condl =| Cos(a) =7 |, Cond2 =| Sin(B) =" Condl =| Cos(a) =", Cond2 =| Sin(B) ="~
No3 = 3 S/ Nod= 4 9
.1 =Sin(a) .2=Cos(B) .1=Sin(a) .2=Cos(B)
3 =Tan(P) A4=Sin(f-a) .3 =Tan(a) A4 =Sin(a+p)
S5=Cos(a+fB) .6=Tan(aa—B) S=Cos(aa—P) .6=Tan(f—a)
L .7=Cos(2B) 8=Tan(2 o) ] L .7=Cos(2 a) 8=Tan(2 B) ]
M
No5 =[Cond = (Cos(76°) = 0.242), Question = Sin(38°)], ,| U
T
M
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No6 = [ Cond = (Cos(18°)=0.951), Question = Cos(9°)], ,| U

T
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TrigonometryExercised for No.13163

)
i
P
B 2 2 o o 1 74
T [ m Tan(80”) — Tan(20")
1 =Cos| —| —Sin| — 2= S
_ - 12 12 1 + Tan(80°) Tan(20°) g
- LLS ]
1=Sin(75°) 2= COSL_j nY &
12 :3=2Sin(15°) Cos(15°) 4=2Cos|—| —1 S
Tmn 8 M
_ L= _ 9550 2
3= Tan( 12 j 4= Cot((-255)) 5=1-2Sin(22.5°) 6= Sin(33%) Cos(12°) + Cos(33°) Sin(12°) ¢
Nol'= 137 p No2 = n 5w n 5n S N
S5=Sec] —-—— .6=Csc(195°) = Cos[—j Cos[—j - Sin[—J Sin(—j .8=1Sin(35") Cos(5°) — Cos(35°) Sin(5°) h
12 12 12 12 12 @
5
.7=COS(19n] .8:Sin[11 “] Tan(—n]+Tan(£] o M
L 12 12 ) | 36 36 2 Tan(15°) U
9= ; 10=—— ,
T T o LL A
1- Tan(—J Tan[—j 1 —Tan(15%) .
i 36 36 | )
o
2
— - — — B ..( B
I 3n b 3n
A=0,B=—",C=—",D=2n A=—",B=n,C=nD=""
2 2 2 2
5 . -1 -5 . -4
[Cond] = [Cos(a) = —J, Cond2 = (Sln(ﬁ) :—H [Cond] = (Cos(a) = —j, Cond2 = [Sln(ﬁ) :—H
No3 = 6 3700 No4= 8 7
.1 =Sin(a) .2=Cos(PB) .1=Sin(a) .2=Cos(B)
3 =Tan(B) 4=Sin(f-a) .3 =Tan(a) A4 =Sin(a+p)
S5=Cos(aa—B) .6=Tan(a+ ) S=Cos(aa—P) .6=Tan(f—a)
.7=Sin(2 B) S=Tan(2 o) ] L .7=Cos(2 a) 8=Tan(2 B) ]
M
No5 =[Cond = (Cos(78°) = 0.208), Question = Sin(39°)], ,| U
T
M
No6 = [ Cond = (Cos(56°) = 0.559), Question = Cos(28°)], ,| U
T
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TrigonometryExercised for No.13403

b
e
- P
Sw 7n
Tan| — |+ Tan| — o o 4
36 36 5 Tan(60”) — Tan( 15) S
- 1 B 5n Tn 1+ Tan(60°) Tan(15°) LLs 1]
T 2% L
.1 =Sin(75°) 2= COS[E) 1- Tan( 36 jTan( 16 J &
7 ’ IEA
T T
.3:Tan[zj .4 =Tan((-105)") .3=2COS(§J -1 .4 =Sin(10%) Cos(35%) + Cos(10°) Sin(35°) a
= = t
Nol 177 (19n) pNe? , L2 5 n NETAVE R
.5 =Csc .6 =Sin| — S5 =1-28in(22.5") .6=Cos| — | Cos| 7— |+ Sin| — | Sin| — h
12 12 9 18 9 18 @
7=S 75)°) .8=C t[ 17“] 7=28i (LJC [lJ §=C [ijC [EJ Si (LJS [Ej M
_.—ec((— )).—0—12_ 7= 11112 0512 .—0518 059 m18 1n9 U
o2 o2 2 Tan(22.5°) LLT 1]
.9=Cos(15”) —Sin(15%) A0=—"""">5, By
L 1 — Tan(22.5°) J _(
)
— — — - B ..( -
I 3n b 3w
[A:O,B:—,C:—,D:Zn} [A:—,B:n,C:n,D:—}
2 2 2 2
. 1 2 5 . -1
[Cond] = (Sm(a) = —J, Cond2 = (COS(B) = —H [Cond] = [Cos(a) = —j, Cond2 = [Sm( B)= —H
No3 = 4 31 No4= 8 2
.1 =Cos(a) .2=Sin(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(B) A4=Sin(f-a)
S5=Cos(aa—B) .6=Tan(a+ ) S=Cos(a+pB) .6=Tan(a—B)
L .7=Sin(2 B) S=Tan(2 o) ] L .7=Sin(2 B) S=Tan(2 o) ]
M
No5 =[ Cond = (Cos(68°)=0.375), Question = Sin(34°)], ,| U
T
M
No6 =[ Cond = (Cos(28°) = 0.883), Question = Cos(14°)], ,| U
T
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TrigonometryExercised4 for No.13459

2
i
P
| ’ Tan(40°) + Tan(20° | g
T an + Tan|
.1:1—2511{—) - —Ten(40) + Tan(20) S
o ) ] 1 — Tan(40°) Tan(20°) LLS 1]
.1 =Cos(105%) 2= Sm[EJ ) Tan(80°) — Tan(20°) &
.3=2Cos(15%) -1 4= INYal
5m . 1 + Tan(80°) Tan(20°)
3 =Tan| — .4 =Cos((-105)") ) 5 a
Nol = = No2=| 5=8in(20°) Cos(10°) + Cos(20°) Sin( 10° 6= Cos| ~— | — Sin| — !
131 1) [ -5 =8in(20%) Cos(107) + Cos(207) Sin(107) .6=Cos| | =Sin| S ,
5 =Sec| — .6 = Cot
12 12 Tn s Tn) (= s Sm () (S5m @
51 .7=Sin| " |Cos| = |- Cos| 7 |Sin| — | .8=Cos| —|Cos| 7 |—Sin| — | Sin| — M
7= Cse(345%) 8= Tan - & 30 15 30 15 9 36 9 36
L 12 ] , s s 2 Tan(22.5°) U
19=2Sin(22.5%) Cos(22.5°) d0=—""" L 7]
L 1 — Tan(22.5°) | )
N
)
L
b I 3n 3n
A=0,B=—,C=—",D=n A=—"B=2n,C=n,D=""
2’ 2 2 2
2 . 3 5 . 5
[Cond] (Cos(a)——j Cond2 = [Sm(ﬁ):—ﬂ |:C0nd1:(COS(OL):_J, CondZ:(Sm(B):—ﬂ
No3 = 7 SH1  Noa= 8 7
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4 =Sin(aa—P) 3 =Tan(a) A4 =Sin(aa—P)
S=Cos(f—a) .6=Tan(a+) S5=Cos(p—a) .6=Tan(a+f)
L .7=Cos(2B) 8=Tan(2 o) ] L .7=Sin(2 o) 8=Tan(2 ) ]
M
No5 =[ Cond = (Cos(50°) = 0.643), Question = Cos(25°)], ,| U
T
M
No6 =[ Cond = (Cos(86°) = 0.070), Question = Sin(43°)], ,| U
T
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TrigonometryExercised4 for No.13581

)
_ 2T ( = ] _ SR
an| . (njz P
=" 2=1-2S8in| — 14
2 8
1—Tan[LJ s
- _ 12 LL S 1]
[Sm o 2 2 &
.1 =Sin| 1 .2=Cos(15%) .3 =Sin(40%) Cos(10°) — Cos(40°) Sin(10°) .4 = Cos(15°) — Sin(15°) ]
2
3=Tan(105°) .4 =Sec((-345)") .5=Cos(70%) Cos(10°) + Sin(70°) Sin(10°) .6=2Cos(22.5°) -1 a
Nol = 137 . o | No2= Tan[EJ n Tan[ij ) > t
.5 =Csc| — 12 .6 =Sin(195") (= Sq . (5n 9 18 A
.7=Sin| = [Cos| = |+ Cos| = |Sin| —/—| .8=
- {197:) §— Tan((-105)") 12 12 12 12 - (EJT (LJ @
_.—012 .8 =Tan((- | an| o | Tan| —¢ A(/][
137 L
Tan( j—Tan(—j LL 7 1]
36 9 T T .
- 10=2 sm[—] COS(_J )
137 T 12 12 .
1 + Tan| Tan| — (
L 36 | B
— — — - - ..( B
I 3w b 3n
A=0,B=—,C=n,D=—""— A=—",B=n,C=—"",D=2n
2 2 2 2
. 1 4 . 1 1
[Cond] = (Sm((x) :—j, Cond2 = (COS(B) :—H [Cond] = [Sm(a) :—j, Cond2 = [COS(B) :—H
No3 = 2 9 ., Nod= 2 4
.1 =Cos(a) .2=Sin(B) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4 =Sin(a—P) 3=Tan(PB) A4 =Sin(a+p)
S=Cos(p—a) .6=Tan(a+p) S=Cos(aa—P) .6=Tan(f—a)
L .7=Cos(2 ) 8=Tan(2 B) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(34°) = 0.829), Question = Cos(17°)], ,| U
T
M
No6 =[ Cond = (Cos(74°) = 0.276), Question = Sin(37°)], ,| U
T
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TrigonometryExercised for No.13668

)
(.
P
— o - V
2 Tan(22.57) 197 b (19n) (m
S — .2=Cos 50 Cos| s + Sin| 50 Sin s S
_ - 1 — Tan(22.5%) LS ]
T
=i 0 = Cos| — Tan(20°) + Tan( 10° 2 &
.1 =Sin(105°) 2 cOs(lzj _ (20%) (10%) 422 Cos(22.5°) — 1 o
o o 1 — Tan(20°) Tan( 10°)
3=Tan(75°)  .4=Cot(345°) s s a
_ T T
Nol = .5:Tan(13“J ‘625%[_ﬂj »No2 = 5 _ Cos(35%) Cos(10%) — Sin(35°) Sin(10°) .6:00{—) —Sin(—j : }’l
12 12 12 12
17m 7=Si [ Jc (47[) C (RJS’ (MJ 8=2Sin(15°) Cos(15°) @
_ 0 g in + — | Sin| — .8 =2 Sin
_.7—Csc((-345)) .8 =Sin| — 2 )] 15 ) %% 15 8 15 15 08 Al/][
2
T Tan(40°) — Tan( 10°
.9=1—2$in(_J = (40) (10) LT
8 1 + Tan(40°) Tan( 10°) )
«(
)
L
b T 3n 3n
A=0,B=—,C=—",D=n A=n,B=—",C=—",D=2n
2 2 2 2
1 3 . 2 3
[Cond] (Sm(a)——J Cond2 = (Cos(ﬁ):—ﬂ [CondI:(Sm(a):—J, Conde[Cos(B):—ﬂ
No3 = 6 40 Noa= 5 5
.1 =Cos(a) .2=Sin(B) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4 =Sin(aa—P) 3=Tan(PB) 4 =Sin(a—P)
S=Cos(a+fB) .6=Tan(f—a) S=Cos(a+p) .6=Tan(f—a)
L .7=Cos(2 a) 8=Tan(2 ) ] L .7=Sin(2 B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(50°) = 0.643), Question = Cos(25°)], ,| U
T
M
No6 = [ Cond = (Cos(26°) = 0.899), Question = Sin(13°)], ,| U
T
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TrigonometryExercised4 for No.13716

)
G
- ) _ P
T Tan(35°) + Tan(25°) v
A=2Cos| —| -1 2= s
) . 8 1 — Tan(35°) Tan(25°) <
n . o 2 Tan(22.5° Rl
.1:00{5) -2 =8in(757) .3=(—)2 4=2Sin(22.5°) Cos(22.5°) &
o 1 - Tan(22.5%) M
) ool sieode) eiefalz) o-oke] sz |||
Nol= 19 7 N T e ) T s ) T se )P s ) T ) T ) 2
.5 =Csc 2 .6 =Sin(345"%) Tn g
Tan — Tan| @
( 575] . , S‘[nJc (117:) c (n)s.[lan s 30 15 M
= —— = 7= — + - 8=
|7 =Cot — -§=Sec(1657) | Ms) "™ 60 )7 ™ 15) 7™ 60 (77:) (nj U
1+ Tan| —— | Tan| —
30 15 LL 7 1]
2 .
L .9=Cos(100°) Cos(10°) + Sin(100°) Sin(10°) 10=1-2Sin(15%) J l(
)
— — — - - ..( -
I 3w 3n b
A=0,B=—",C=n,D="""— A=—",B=2n,C=_",D=n
2 2 2 2
. 1 3 2 . 1
[Cond] = (Sm((x) :—j, Cond2 = (Cos( B)= —H [Cond] = [Cos(a) = —j, Cond2 = [SIH(B) :—H
No3 = 2 7 ., Nod = 7 3
.1 =Cos(a) .2=Sin(B) .1=Sin(a) .2=Cos(B)
.3=Tan(PB) 4=Sin(a—P) .3 =Tan(a) A4=Sin(f-a)
S=Cos(a+p) .6=Tan(f—a) S=Cos(aa—P) .6=Tan(a+p)
L .7=Cos(2B) 8=Tan(2 o) ] L .7=Sin(2 o) 8=Tan(2 B) ]
M
No5 =[Cond = (Cos(78°) = 0.208), Question = Sin(39°)], ,| U
T
M
No6 =[ Cond = (Cos(38°) =0.788), Question = Cos(19°)], ,| U
T
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TrigonometryExercised for No.13720

R
- ) _ o
e P
.1:2COS(§J -1 .2=Cos(30°) Cos(15%) — Sin(30°) Sin( 15°) v
Tan(50°) — Tan(20°) (n n S
) . 3= 4=2Sin| — [Cos| — LLS
5m 1 + Tan(50°) Tan(20°) 12 12 &
.1 =Cos(15°) .2=Sin| — 1 1 o
12 Tanl—J + TanL—j M
.3=Tan(105°) .4 =Csc((-285)°) _ 9 9 f=1—2 Sin(15°)2 a
Nol = (197 177 |, No2 = ' n 2n ' ., t
.5 =Sin| .6 =Cot| — 1 —Tan| — | Tan| —— s
12 12 9 9
Sw : o o o : o o 2 : o 2 @@
.7=Tan(195°) .8=Sec _E .7=Sin(60”) Cos(15”) — Cos(60”) Sin(15°) .8 =Co0s(22.5") —Sin(22.5%) M
L . I
2 Tan| — U
17n Sn (17m)  (5m 12 T
.9=Cos Cos| — |+ Sin Sin| — AO0=—"——" o
36 36 36 36 - 2 2)
l—Tanl—J _(
L 12 ] :
2
L
b 3n 3n b
A=0,B=—",C=n,D=—""— A=—",B=2n,C=_",D=n
2 2 2 2
3 . -3 . -5 -1
Condl =| Cos(a) =~ |, Cond2 =| Sin(B) =" Condl =| Sin(at) =—"|, Cond2 =| Cos(B)=""
No3 = 4 8 ., Nod= 7 3
.1 =Sin(a) .2=Cos(PB) .1 =Cos(a) .2=Sin(B)
3 =Tan(B) 4=Sin(aa-P) .3 =Tan(a) 4 =Sin(a—P)
S=Cos(aa+f) .6=Tan(f—a) S=Cos(a+p) .6=Tan(f—a)
L .7=Cos(2 ) 8=Tan(2 ) ] L .7=Sin(2 o) 8=Tan(2 B) ]
M
No5 =[ Cond = (Cos(56°) = 0.559), Question = Cos(28°)], ,| U
T
M
No6 = [ Cond = (Cos(14°) = 0.970), Question = Sin(7°)], ,| U
T

X [Page = 0029] XXXXXXXXXXXXXXXXXXXXXKXXXXKXKXKXXXXXXKXXKXXKXXKXXKXKXKXKXKXKXKXKXKKXKKXKKXKKXKKXKKXKKXKKKXKXKXKXKXKXKXKXKKXKKKKX KK KK KK KKKK XK KKXKXKXKXKXKXKK KX KKK KKXKKKKKK



):9.0:9:0:9.9.9.:9.9.9:9:9:9:9.9.:9.9.9.9:0:9.9.9:9.9.9.9:0:9.9.9.9.9.9:9:0:9.9.9.9.0.9.9:0:0.9.9.9.9.9.9:0:9.9.9.9.9.9.9:0:0:9.9.9.9.9.9:0:0.9.9.9.9.9.0:0:0.0.9.9.9.9:9:0:0.9.9.0.9.9.0:0:9.9.9.9.9.9:9:0:0:9.9.9.9.9.0:0.0.0.0.9.9.9.9:0:0.9.9.0.9.9.0:0.:0.0.9.9.9.9.0:0:0.9.9.0.9.9.0:0:0.9.0.9.9.9:0:0:0.9.9.9.9.0¢
DGRV ERH s ICIVISHNND 9:0:0:0:0.0:0:0:0.0:0:0.0:0:0.0.0:0:0.0:0:0.0.0:0.0.0:0:0.0.0:0.0.0:0.0.0:0:0.0.0:0:0.0:0:0.0.0:0.0.0:0.0.0:0:0.0.0:0:0.0:0:0.0.0:0.0.0:0:0.0.0:0.0.0:0.0.0:0:0.0.0:0.0.0:0:0.0.0:0.0.0:0.0.0:0:0.0.0:0.0.0:0:0.0.0:0.0.0:0:0.0:0:0.0.6:0.0.6:0:0.0.0:¢ | CYM L X T O ST R/ T 010 10 110474
TrigonometryExercised4 for No.14307
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-~ ~ P
(= ’ (= 3= b (13m v
1 =1-28in| — .2=Sin| 7 | Cos + Cos| 7 | Sin S
~ ~ 8 15 30 15 30 s
(Sm o 2n n 2n n Tan(57°) — Tan(12° R
A= Sm( 12 J :2=Cos(1057) 3= COSL_J Cos[—j + Sin[—j Sint—j 4= (57) (12) &
9 18 9 18 1 + Tan(57°) Tan(12°) M
T
.3:Tan(EJ 4= Cot((-255)°) > Tarl a
= = 2 8 t
Nol 1~ el 5=2Cos(15°) —1 = e
.5 = Tan| .6 =Csc(195%) s
12 l—Tan(—J @
7=Cos| ———| .8=Sec((-345)") M
| TN Ty ) o TRl | .7=Sin(105°) Cos(15°) — Cos(105°) Sin(15°) .8 = Cos(48°) Cos(12°) — Sin(48°) Sin(12°) U
T ’ T ’ LL T 1]
9= Cos| — | - Sin| — .10 =2 Sin(22.5°) Cos(22.5%) .
12 12 ] )
o
)
L
I 3n 3w I
A=0,B=—",C=—",D=2n A=n,B=—"",C=—",D=n
2 2 2 2
. 1 2 -1 . 5
Condl =| Sin(a) =7 |, Cond2 =| Cos(B) =T Condl =| Cos(a.) =—"|, Cond2 =| Sin(B) ="~
No3 = 2 300 Nod= 2 6
.1 =Cos(a) .2=Sin(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(P) A4 =Sin(a+P) 3 =Tan(a) A4 =Sin(a+P)
S5=Cos(aa—fB) .6=Tan(f—a) S=Cos(p—a) .6=Tan(a—-B)
L .7=Cos(2 a) 8=Tan(2 ) ] L .7=Cos(2B) S=Tan(2 o) ]
M
No5 =[ Cond = (Cos(82°)=0.139), Question = Cos(41°)], ,| U
T
M
No6 = [ Cond = (Cos(50°) = 0.643), Question = Sin(25°)], ,| U
T
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TrigonometryExercised4 for No.14598

)
O
[ Eu nj (nj 1 P
Tan| — Tan| — vV
36 18 Sn b Sn) (=
A= 2= Sm( JCOS( ]+C0s[—] Sln[—J S
- . 1 - (H—RJT [Lj 36 9 36 9 s ]
.1:@{;} 2=Sin(15°) 36 ) s &
7 e 02 - Tan(40°) + Tan(20°) M
.3:Tan(1—§J 4= Cos((-165)°) J=lm2sndsy A Tan(40°) Tan(20°) “
Nol= 19m o o2 =2 Sm[ JCos(nj 6= Sln[5 JCOSE nj COS[HJ Sin[Lj ’ ’ }tz
.5 =Sec| — 12 .6 =Tan((-195)") 3 8 : 9 18 9 18 @
7=C t[23nj 8 =Sin((-75)° (LJZ ~ (LJZ 0 Or L @il A0 Qg 170 M
7= o ” .8 =Sin((- ))_ .7 =Cos| B — Sin B .8 =Cos(72°) Cos(12%) + Sin(72°) Sin(12°) -
2 Tan(22.5%) o2 LL 7 1]
g=—— 10=2Cos(22.5°) — 1 B
L 1 — Tan(22.5%) J _(
2
L
I [ n n } ] [ [ 3n 3n } ]
A=0,B=—,C=—",D=n A=n,B=—",C=—",D=2n
2 2 2 2
[Cond] (Sm(a)— JCondZ (Cos(ﬁ):iﬂ [CondI:(Sin(a):ﬁJ, CondZ:[Cos(B):gﬂ
No3 = 4 , »Nod= 5 7
.1 =Cos(a) .2=Sin(B) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) A4=Sin(f-a) 3=Tan(PB) 4 =Sin(a—P)
S5=Cos(a+fB) .6=Tan(aa—B) S=Cos(a+p) .6=Tan(f—a)
.7=Sin(2 a) 8=Tan(2 ) ] L .7=Sin(2 B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(42°) = 0.743), Question = Sin(21°)], ,| U
T
M
No6 =[ Cond = (Cos(86°) =0.070), Question = Cos(43°)], ,| U
T
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TrigonometryExercised for No.14624

- _ . T 2
Sn .3:1—28111[—)
.1=Sin(105°) 2=Cos| — 8
12 .
.3 =Tan(15°) 4 =Cot((-285)°) 2 Tan(Ej
Nol = T 0. | No2= == 3
S =Tan| ——— .6 = Sec(255") P
12 1 —Tan| —
. 177 197 12
/=Sl =TT ) 8= T _ Tan(33°) + Tan(12°)
1 — Tan(33°) Tan( 12°)
2 2
T
9= Cos[ ] S'n[—]
L 12 12
':AZO’B_ ’C__D ZTE:|
5 . -1
[Cond] —(Cos(a)——J Cond?2 = (Sm(ﬁ):—ﬂ
No3 = ? 374 Nod =
.1 =Sin(a) .2=Cos(B)
.3 =Tan(a) 4 =Sin(o.+P)
S5=Cos(aa—fB) .6=Tan(f—a)
.7=Sin(2 B) S=Tan(2 o) ] L

No5 =[ Cond = (Cos(22°)=0.927), Question = Cos(11°)],

No6 =[ Cond = (Cos(80°) = 0.174), Question = Sin(40°)],
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Tan(55°) — Tan(10°)

1 + Tan(55°) Tan(10°)

llnj (TEJ _(lan _(RJ_
Cos| — |+ Sin Sin| —
9 18 9

2= Cos(
18

2
4=2Cos(22.5°) — 1
.6=Cos(18%) Cos(12°) — Sin( 18°) Sin(12°)

5w Tr Sn) (7w
8=Sin| — [Cos| — |+ Cos| — | Sin| —
36 36 36 36

.10 =2 Sin(15%) Cos(15%)

[ b 37:} ]
A=T,B=m, —
2’ 2
[Cond] Sin(a) = jCondZ (COS(B):fﬂ
1=Cos(a) .2=Sin(B)
3=Tan(PB) A4 =Sin(a+p)
S=Cos(aa—P) .6=Tan(f—a)
.7=Cos(2 a) 8=Tan(2 B) ]
M
| U
T
M
| U
T

T

TR NSRS~ XU

L
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TrigonometryExercised for No.14641

.1 =Cos(75°)
.3 =Tan(105°)
Nol =
5= Sin((-345)°)

.7 = Tan(285°)

No3 =
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. _
.Z:Sin(—J
12
131
.4 =Cos 12
7 , No2 =
.6 =Csc| —
12
191
.8 =Sec| -
12 /]

[Cond] = [Cos(a) :g

.1 =Sin(a)
.3 =Tan(B)

.7=Cos(2 B)

No5 =[ Cond = (Cos(70°) = 0.342), Question = Sin(35°)], ,

No6 = [ Cond = (Cos(46°) = 0.695), Question = Cos(23°)], ,

b 3n i i
A=0,B=—,C=—",D=2n
2 2

i

5=Cos(a—B)

2 2
b [ =m
1=Cos| — | - Sin| —
12 12
2
3=2Cos(22.5°) -1

b1 T
5=2 Sin[—J Cos(—j
8 8

2
.7=1-2Sin(15°%)

.9 = Cos(42°) Cos(12°) + Sin(42°) Sin(12°) 0=

Cond2 = (Sin( B)= ?J}

.2=Cos(PB)
4=Sin(a+p)
6=Tan(f —a)

S=Tan(2 o)

, No4 =

2 Tan( 15°)

2
1 —Tan(15°)

4= Cos(20°) Cos(25°) — Sin(20°) Sin(25°)
Tan(5°) + Tan(25°)
1 — Tan(5°) Tan(25°)

(2= T 2n)  ( w\/
.8=Sin| —/ | Cos| 7 |- Cos| —/ | Sin| 7
5 15 5 15

Iln T

Tan| — Tan| —

36 18

1ln i

1 + Tan Tan| —

36 18
b 3n
A=—",B=n,C=n,D=—""
2 2

|:C0nd1 = (COS(OL) = ;lj Cond?2 = [sm(ﬁ) :ESH

.1=Sin(a) .2=Cos(B)
3=Tan(PB) 4 =Sin(a—P)
S=Cos(a+p) .6=Tan(f—a)
.7=Cos(2 a) 8=Tan(2 B)
M
U
T

M

U
T

S N N R R O I - R T " R
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TrigonometryExercised for No.14681

b
0y . 0 0 P
.1=2Cos(15%) -1 .2=2S8in(22.5%) Cos(22.5%) y
Sn Tmn
Tai [ J+Tan[ ] 2 S
- - 36 36 (= S
(5m o 3= 4=1-2Sin — LL o
1 =Sin| —— .2="Cos(15%) S5n T 8 &
12 1 —Tan — | Tan| —— e
. 36 36 M
3 Tan(;) .4 =Tan(345°) T (13 n) T [nj a
an — Tan| —
Nol = i , No2 = 36 9 2 Tan(15°) , , t
5= Csc[ —j .6=Sec(165°) - 13 - o2 h
12 1 + Tan ~ Tan| Z 1 —Tan(15%) @
(17m 7n 36 9 M
7 = Sin 8=Cot| ——/— T T T
L 12 12 /] .7 =Cos(40°) Cos(10°) + Sin(40°) Sin(10°) .8 = Sin| —— | Cos| — |+ Cos| — | Sin| — U
15 10 15 10 T
2 2 T
n [m 0 0N Qi mEON iy 1 <0 )
.9:Cos[—j - Slnt—j .10 =Cos(75") Cos(15") —Sin(757) Sin(157) -
L 12 12 ] A
)
— - — — - ..( -
I 3n
[A:O,Bz—,C——D 27:} [A——B T, C=n,D="""" }
2 2 2
2 . -1 -1 . -1
[Cond] = [Cos(a) :—J Cond2 = (Sln(ﬁ) :—H [Cond] = (Cos(a) :—j, Cond2 = [SIH(B) :—H
No3 = 3 S5 Noa= 2 4
.1 =Sin(a) .2=Cos(PB) .1=Sin(a) .2=Cos(B)
3 =Tan(B) 4=Sin(a+p) .3 =Tan(a) 4 =Sin(a—P)
S=Cos(B—a) .6=Tan(a—B) S=Cos(p—a) .6=Tan(a+p)
L .7=Cos(2 B) S=Tan(2 o) ] L .7=Cos(2 a) 8=Tan(2 B) ]
M
No5 =[ Cond = (Cos(20°) = 0.940), Question = Sin(10°)], ,| U
T
M
No6 = [ Cond = (Cos(42°) = 0.743), Question = Cos(21°)], ,| U
T
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TrigonometryExercised for No.14688

)
2
B P
1=2Sin(22.5°) Cos(22.5°) 2=2 Cos(gj -1 y
)l ;
Tan| — |- Tan| —— 2 LL S 1]
_ _ 36 36 ([ n
T 3= .4:1—28111[—) &
= COS[E] 2=S8in(75%) s Tan£7_“j Tan(i) 12 M
3=Tan(15°) .4=Csc((-255)°) 3 3 y
Nol = 7 13x) V2= 5 SmK5 JCOS[TEJ + Cos(s—nj sm(iJ 6= Sin(55%) Cos(10°) — Cos(55°) Sin(10°) | | || *
.5 =Sec ST .6 =Cot 0 36 9 36 9 h
2 2
| 7= Cos(165%) .8 Tan((-195)%)] .7 = Cos( 155°) —Sin(15°) 8= Cos(10°) Cos(50°) — Sin( 10°) Sin(50°) %
Tan(—nJ + Tan[ij 2 Tan[EJ U
36 36 8 T
9= 10=—"— LL T 1]
1- Tan[s—nj Tan(LJ [E] 2
] 36 36 1= Tan{ ¢ ] o
)
L
LR I N e s L
A=0,B=—,C—_D 2rn A=TE,B—_ =—,D=n
2 2 2
[C"”W:[COS(G)ZLJ Cond2 = (Sin(ﬁ)zﬁﬂ [CondI:(Sin(a)_ j Cond2 = [Cos(ﬁ)ziﬂ
No3 = 2 3 ., Nod= 2
.1 =Sin(a) .2=Cos(PB) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(a+p) .3 =Tan(a) A4 =Sin(a+p)
S=Cos(aa—B) .6=Tan(f—a) S=Cos(p—a) .6=Tan(a—p)
L .7=Cos(2 B) S=Tan(2 o) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 =[Cond = (Cos(74°) = 0.276), Question = Sin(37°)], ,| U
T
M
No6 = [ Cond = (Cos(40°) = 0.766), Question = Cos(20°)], ,| U
T
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TrigonometryExercised for No.14703

b
G
~ _ P
o o . o o b1 4 [ m (4= 14
.1 =Cos(110") Cos(20”)+ Sin(110™) Sin(20”) .2 =Cos| = | Cos| —— | — Sin| — | Sin| ——
18 9 18 9 S
- _ ) s
T _Q; o oy o . o _ oy LL 1
1 = Cos(105°) P Sin£_j .3 =Sin(40”) Cos(10°) Cos(540 ) Sin(10%) 4=2Cos(22.5%) -1 &
T T I
5 Tan(—j + Tan(—J M
_JE o 9 36 . ) o o : o
.3:Tan( 12) -4 =Sec((-165)") 5= .6=Sin(50°) Cos(10°) + Cos(50°) Sin(10°) a
Nol = No2 = T S t
T ’ 1 —Tan| — | Tan| —— ’ ’
5=Sin| ——| .6=Csc((-285)°) 36 h
12 s @
13 — . o o — _ . -
.7:C0{_ n] .8:Tan(_£] .7=2Sin(15°) Cos(15°) 8=1 251n[8J M
L 12 12) | 2 2 u
2 Tan(22.5°%) n (= T
=" .10 = Cos E — Sin| E T
L 1 — Tan(22.5°) | )
o
)
- — - ( -
b I 3w 3n
A=0,B=—,C=—",D=n A=—"B=2n,C=n,D=""—
2 2 2 2
3 . 3 . -1 -2
[Cond] = (Cos(a) :—J, Cond2 = (Sm(ﬁ) :—H [Cond] = [Sm(a) :—j, Cond2 = (Cos(ﬁ) :—H
No3 = 5 T Nod = 3 5
.1 =Sin(a) .2=Cos(PB) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4 =Sin(aa—-P) 3 =Tan(a) A4 =Sin(aa—P)
S5=Cos(B—a) .6=Tan(a+ ) S=Cos(a+pB) .6=Tan(f—a)
L .7=Cos(2 ) 8=Tan(2 ) ] L .7=Sin(2 B) S=Tan(2 o) ]
M
No5 =[Cond = (Cos(78°) = 0.208), Question = Sin(39°)], ,| U
T
M
No6 = [ Cond = (Cos(50°) = 0.643), Question = Cos(25°)], ,| U
T
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TrigonometryExercised for No.14714

)
[ T s 2 2 ] - '.(—
=2 Sin(—J Cos[—j .2=Cos(15%°) —Sin(15°) P
12 12 V
2
Tan(—n] - Tan[ij S
B ] (¢ o . (s . o 5 15 L S _
.I:Cos[ij 2= Sin(75%) 3= Cos(80°) Cos(10°) — Sin(80°) Sin(10°) .4 = > - i
12 1 + Tan| — | Tan| — YA
7 5 15
.3 =Tan| D) .4 =Sin(285°) [47[} [ - J [nj a
_ _ Tan| —— |+ Tan| —— 2T
Nol = e ( Snj o (1775)’]\/02_ B an 15 an 15 B ang > > }tl
S5=Csc| =/ | .6=Tan - N 2
4
12 12 1- Tan[—n] Tan(LJ 1 — Tan K @
. 3= 15 15 S )Y,
.7=Sec(165°) .8=Cof
L 12 /] - 2 U
.7 = Sin(65°) Cos(20°) — Cos(65°) Sin(20°) 8=1-2 sm[EJ L 7]
)
(= T n)  (m 0.2
9= Sln[—j Cos[—J + Cos(—j Sln[—j 10=2Cos(22.5") -1 e
L 18 9 18 9 |
2
L
b 3n 3n
[A 0,B=—",C=—,D :n} [Az—B 2n,C=n,D=—"" }
2 2 2

[Cond] [Sm(a) =
A=
3

]

Cond2 = [Cos( B)= gﬂ

|:C0nd1 = (Sin(a) = le Cond?2 = [COS( B)= ;H

No3 = , ,No4=
Cos(a) .2=Sin(B) .1 =Cos(a) .2=Sin(B)
=Tan(a) 4=Sin(a+p) 3=Tan(PB) A4=Sin(f-a)
S=Cos(B—a) .6=Tan(a—B) S=Cos(aa—P) .6=Tan(a+p)
L .7=Cos(2 a) 8=Tan(2 ) | L .7=Cos(2B) .§=Tan(2 a) i
M
No5 =[ Cond = (Cos(32°) = 0.848), Question = Cos(16°)], ,| U
T
M
No6 =[ Cond = (Cos(56°) = 0.559), Question = Sin(28°)], ,| U
T
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TrigonometryExercised for No.14746

)
| G|
Tas + Tan P
. 15 10
.1=2Sin(22.5°) Cos(22.5%) 2= v
T T
1- Tan[—j Tan(—j S
B ~ 15 10 LS|l
o (T z Y &
-1'=Cos(157) 2 =Sin[ =7 .3 =Sin(25%) Cos(35°) + Cos(25°) Sin(35°) 4=1-2 Sin[E] s
éil _Q o o o 2 a
Noi - .3:Tan[ 12) 4 =Sin((-15)%)  No2 = 5 _Tan(50") ~ Tan(20°) .6:2Cos(£j . o ;
137 23 1t 1 + Tan(50°) Tan(20°) 8 h
5 ="Tan| - 6 = Co W2 (1775) (SRJ .[177:) .[Snj @
.7=Cos(15") —Sin(15%) .8=Cos| —/—— | Cos| — |+ Sin Sin| —/— M
| .7=Csc(285°)  .8=Cos((-285)°) 36 36 36 36 o
2Tan[iJ T
e Sw (m) (5w 12 LL £ 1]
9= Cos(—j Cos[—j— Sln[—j Sm[—j v 0:—2 2
9 36 9 36 - =
l—Tan[—j o
L 12 | 2)
L
| [ oy I
A=0,B= ,C——D 2n A=—,B=m, -
2’ 2
vt cmn-fsom-3]] | J [eom=3]
Condl =| Cos(a) =T |, Cond2 =| Sin(B) =" Condl =| Sin(a) = Cond2 =| Cos(B)=""
No3 = 7 70 Noa = 7
.1 =Sin(a) .2=Cos(B) 1=Cos(a) .2=Sin(B)
3 =Tan(a) A4=Sin(f-a) 3=Tan(PB) 4 =Sin(a—P)
S5=Cos(a+fB) .6=Tan(aa—B) S=Cos(a+p) .6=Tan(f—a)
.7=Sin(2 a) 8=Tan(2 ) ] L .7=Sin(2 o) 8=Tan(2 B) ]
M
No5 =[ Cond = (Cos(44°) = 0.719), Question = Sin(22°)], ,| U
T
M
No6 =[ Cond = (Cos(72°) = 0.309), Question = Cos(36°)], ,| U
T
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TrigonometryExercised4 for No.15000

12
Nol =

191

.5 =Sec| — 6=
12
131

.7 =Cot| —

L 12

No3 =
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.4 =Cos(285°)

2
3=2Cos(15°) -1

(lan [nj
Tan + Tan| ——
60 15

.2=Cos(15°%)

.1 =Sin(65°) Cos(20°) — Cos(65°) Sin(20°) .2= Sln( 12] COS[

2 Tan(22.5°%)

2
1 — Tan(22.5%)

2 2
, No2 = = 0 .6:Cos[1—n2J - Sin[l—nzj
Tan((-165)°) - Tan[—“j Tan[lj
60 15
. 7= oy o
:Sm[_ > J __Tan(70°) — Tan(10°) o ZSm[ jCos(nJ
- 1 + Tan(70°) Tan(10°) 8 8
s () eod ) sl 55 s
.9=1-28in(22.5%) .10 =Cos| Cos + Sin| —— | Sin| —
L 30 15 30
[ [ n n } 1 I [ 3n 3n } ]
A=0,B=—,C=—",D=n A=n,B=—",C=—",D=2n
2 2 2 2
[Cond] [Sm(a)— JCondZ [COS(B):iJ:' [CondI:(COS(a):ﬁj, CondZ:[Sin(B):ﬁﬂ
2J3| No4= 3 3
.1 =Cos(a) .2=Sin(B) .1=Sin(a) .2=Cos(B)
3=Tan(B) 4=Sin(aa-P) 3=Tan(PB) A4=Sin(f-a)
S=Cos(aa+f) .6=Tan(f—a) S=Cos(aa—P) .6=Tan(a+p)
.7=Sin(2 B) S=Tan(2 o) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 =[Cond = (Cos(8°)=0.990), Question = Cos(4°)], ,| U
T
M
No6 = [ Cond = (Cos(70°) = 0.342), Question = Sin(35°)], ,| U
T

S5n T S5n
] + Cos[—J Sin(—
12 12 12

T

15

'

)

T

T
T
L

T
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S N R RS R N ORI N - SN U e ' N

L
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TrigonometryExercised4 for No.15012

)
[ 2 Tan(22.5°) . R O
I=—" "7 .2=Cos(65") Cos(20”) + Sin(65”) Sin(20") P
1 — Tan(22.5%) 14
5l ;
- _ Tan| — |- Tan| —
n 02 . 0.2 9 18 LL S]]
.1 =Cos(105%) 2 =Sinl E .3=Cos(15") —Sin(15%) 4= n . &
Sw 177 b Tan(Tj Tan[gj M
3 =Tan —— .4 =Sec 2 a
12 12 . )
Nol= 70 p Vo2 = 5=1-2Sin| — .6=2 Sin(22.5°) Cos(22.5°) S
.5 =Cos((-195)°) .6:Tan[——j 12 h
12 Sn T @
o ek s5n n s5n)  (=n a5 )T T 36 M
:7=Cot((-75)") .8=S8in| - 12 7= Sin(—j Cos(—J + COSL_J Sin(—j 8= U
- - 36 9 36 9 (5 nj E n ]
1 —Tan| — |Tan| —— LL 7 1]
36 36
2 )
.9:2C05[%J -1 .10 =Sin(105°) Cos(15°) — Cos(105°) Sin( 15%) o
— — El
— - — — - ..( B
I 3n I
[A:O,B:—,C——D Zn} [A:n,B_— C=—D :n}
2 2 2
5 . 2 . 2
[COHd]I[COS(a):_J Cond2 = (Sm(ﬁ):—ﬂ [CondI:(Sm(a)— j Cond2 = [COS(B):_J:|
No3 = 6 5 ., Nod= 5
.1 =Sin(a) .2=Cos(PB) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4 =Sin(aa—-P) .3 =Tan(a) 4 =Sin(a—P)
S5=Cos(B—a) .6=Tan(a+ ) S=Cos(a+p) .6=Tan(f—a)
.7=Sin(2 ) 8=Tan(2 ) ] L .7=Sin(2 B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(16°)=0.961), Question = Cos(8°)], ,| U
T
M
No6 =[ Cond = (Cos(76°) = 0.242), Question = Sin(38°)], ,| U
T
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TrigonometryExercised4 for No.15024

2
i
P
- - vV
2 2 [ 17z I 17n) (m
.1 =Cos(15°) —Sin(15%) 2= Sln(—J Cos(—] - Cos[ ] Sln[—] S
) . 30 15 30 15 L S ]
i) 2ol ) (35 )eod )l 35 sl ) 2 y
.1 =Sin(75%) 2=Cos| /T .3=Cos Cos Sin| — | Sin| — 4=1-28in(22.5") -
12 15 15 15 15 M
.3=Tan(15%) .4 =Csc(345°%) Tan(20°) + Tan(10°) 6 = Cos(55°) Cos(10°) + Sin(55°) Sin( 10°) a
= .6 =Cos 0s in in
Not = .5:00{— 17“) 6=sin((-165)") [ 7 I - Tan(20%) Tan(10°) }’l
1 ( J [ T ] 2 Tan(22.5°)
. .7=2Sin Cos e — @
.7:@{—;) .8 =Sec(165%) 12 12 | — Tan(22.5°) M
L J ) U
9=2 Cos[%) -1 .10 =Sin(33°) Cos(12%) + Cos(33°) Sin( 12°) LT ]
) ) )
N
2
L
- I o
A=0,B= ,C——D 2n A=—,B=m, -
2’ 2
(oo emefsan-2)] | J [coso -3
Condl =| Cos(a.) =" |, Cond2 =| Sin(B) =" Condl =| Sin(a) = Cond2 =| Cos(B)=—"
No3 = 8 2 , ,No4= 5
.1 =Sin(a) .2=Cos(B) 1=Cos(a) .2=Sin(B)
3 =Tan(P) A4=Sin(f-a) 3=Tan(PB) 4 =Sin(a—P)
S5=Cos(a+fB) .6=Tan(aa—B) S=Cos(a+p) .6=Tan(f—a)
L .7=Cos(2 a) 8=Tan(2 ) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(72°) = 0.309), Question = Cos(36°)], ,| U
T
M
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No6 = [ Cond = (Cos(24°) = 0.914), Question = Sin(12°)], ,| U

T
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TrigonometryExercised4 for No.15032

2
O
- ~ P
T ) (= 2 Tan(22.5°) v
.1 =Sinf — 15 Cos| — 10 + Cos E Sin E 2= s
1 — Tan(22.5%) s
) . .[MJ [nj [Mj.[nj o Oy _ Qi 20°) Qi 10° &
. S5n .3=Sin| — | Cos| 77 |- Cos| — | Sin| — .4 =Cos(80") Cos(10”) — Sin(80") Sin(10”) %
.1 =Sin(105°) .2=COS[E] 12 12 12 12 M
o o éll _ K2 a
Noj —| 3=Tan(15%) .4 =Tan((-255)°) No2— n > n 2 Tan( 18) Tan[gj o ;
( ij ( 19_75) .5=Cos — Sin 6= i
.5 =Sec| — .6 = Sin| — 8 8 Sw b
12 12 1+ TanL—j Tanl—J @
o o 18 9
L.7=Csc((-75)") .8=Cot(165%) | 2 M
.7:2Cos(ij -1 .8=2Sin(15%) Cos(15°) u
12 LT ]]
L 9=1-2 Sin(22.5°)2 .10 =Cos(80°) Cos(20°) + Sin(80°) Sin(20°) J
o
2
L (0
I [ n n } ] [ [ 3n 3n } ]
A=0,B=—,C=—",D=n A=n,B=—",C=—",D=2n
2 2 2 2
[coma={smcer=glcomz=(com 3| cmar=[simer 2| conz=[courr= |
Condl =| Sin(at) =~ |, Cond2 =| Cos(B) =" Condl =| Sin(a) =—"|, Cond2 =| Cos(B) ="
No3 = 6 \ T/ Noa= 3 ‘ >
.1 =Cos(a) .2=Sin(B) .1 =Cos(a) .2=Sin(B)
3 =Tan(P) 4 =Sin(aa—P) 3=Tan(PB) 4 =Sin(a—P)
S=Cos(a+fB) .6=Tan(f—a) S=Cos(a+p) .6=Tan(f—a)
.7=Sin(2 a) 8=Tan(2 ) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(18°)=0.951), Question = Cos(9°)], ,| U
T
M
No6 = [ Cond = (Cos(84°) = 0.105), Question = Sin(42°)], ,| U
T
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